# Vertical Division with a Helper Grid Name:
Solve each problem. Answers

1) 2) 3)

480’8 2[479/2 1[4/17 L

4) 5) 6)

3[9/9'7 8[112 446’8 N

7) 8) 9)

1|922 8|499 3|794

1-9 |89]|78]67[56]44[33[22[11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
) 202 2 246 3 417
1 202
4808 2(492 11417
8 4 4 5 246
0 09 0
8 .8 17 s 417
0 12 0
1.2 4 332rl
0
5. 14
6. 117
9 [3]3]2r1 5) 14 6 117 o 922
3[9/9/ 7 8112 4l4 68 6 6213
9 _8 44
09 32 2/8 0. 26412
9 32 28
07 0 0
|6
1
N 922 8) 62 9 264r2
119/2/2 8(4 99 ﬂ794
9 A8 6
02 1/9 1/9
_2 16 18
02 3 14
_2 12
0 2
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